
Any suggestions or comments to this instruction or 
product are welcome.  Please contact us through 
our website or email engineer@sdcsecurity.com P:\INSTALLATION INST\Mechanical Hardware\TEMP-S6200-SP.vsd     REV - 08-12     Page 1

1. Draw a centerline horizontally across the door, 40" (1016mm) from bottom of door.

2. Draw a vertical centerline 2-7/16” (62mm) from edge of door.

3. Select the appropriate side of both templates.  (1 & 2).  Your door handing will determine the
appropriate side, either (LHR) or (RHR). 

4. Using dimensions indicated on templates 1 & 2, locate and mark the center of the required holes.

5. Drill holes as indicated by their designated letter.

6. If using an exterior trim, refer to the template with trim to further prepare door.

TEMPLATE-S6200-SP
SURFACE MOUNT VERTICAL ROD w/PULL PLATE

Dimension Guide for – LHR (Left Hand Reverse door) Template 1

801 Avenida Acaso, Camarillo, Ca. 93012
• (805) 494-0622  •  Fax: (805) 494-8861
www.sdcsecurity.com •E-mail: service@sdcsecurity.com

INSIDE

INSIDE MOUNTING HOLES
For Metal Door Surface
Application:
1.  Drill 5/32" (12mm) dia.

holes 3X as marked.
2.  For 4th mounting hole, drill

1/4” (6.35mm) dia. thru, then
from outside, drill 15/32” (12mm)
1-1/2” (38.1mm) deep (see sht. 2).

BACKSET 2-7/16”
TO FACE OF STOP

TO FACE OF STOP
BACKSET 2-7/16”

OF
DEVICE
LC

1/2” dia.
CLEARANCE

40"

Watch for special 
mounting height 

requirements

FINISHED FLOOR

.575

.594

1.188

AFTER EXIT DEVICE IS CUT AND MOUNTED,
INSTALL END CAP BRACKET CENTERED ON 

DEVICE   LC
25/32"

(19.8mm)
25/32"

(19.8mm)

2-9/32"
(57.5mm)

2-3/4"
(70mm)

3X 15/32"
(12mm) 

THRU

of
E

xi
t D

ev
ic

e
LC

C
or

re
sp

on
ds

 
w

ith
 P

ul
l P

la
te

OPTIONAL
1/2”dia.

WIRE RUN

ACTUATING SHAFT HOLE: Drill 1/2” thru hole.



1. Draw a centerline horizontally across the door, 40" (1016mm) from bottom of door.

2. Draw a vertical centerline 2-7/16” (62mm) from edge of door.

3. Select the appropriate side of both templates.  (1 & 2).  Your door handing will determine the
appropriate side, either (LHR) or (RHR). 

4. Using dimensions indicated on templates 1 & 2, locate and mark the center of the required holes.

5. Drill holes as indicated by their designated letter.

6. If using an exterior trim, refer to the template with trim to further prepare door.

DIMENSIONS ON THIS
PUBLICATION MAY NOT
BE TO SCALE.  DO NOT
USE TEMPLATE TO
MARK DISTANCES

!

METAL – Panic Rated: Drill/Tap for 1/4-20 machine screws (sexbolts recommended).
METAL – Fire Rated: Sexbolts required.
SEXBOLTS: Drill 3/8” (9.5mm) clearance holes on Push and Pull Sides.
WOOD: Pre-Drill 1/8” (3mm) hole.

A

ACTUATING SHAFT HOLE: Drill 1/2” thru hole.
B

Dimension Guide for – RHR (Right Hand Reverse door) Template 2

INSIDE MOUNTING HOLES
For Metal Door Surface
Application:
1.  Drill 5/32" (12mm) dia.

holes 3X as marked.
2.  For 4th mounting hole, drill

1/4” (6.35mm) dia. thru, then
from outside, drill 15/32” (12mm)
1-1/2” (38.1mm) deep (see sht. 2).

1/2” dia.
CLEARANCE

40"

Watch for special 
mounting height 

requirements

FINISHED FLOOR

.575

.594

1.188

OPTIONAL
1/2”dia.

WIRE RUN

INSIDE

BACKSET 2-7/16”
TO FACE OF STOP

TO FACE OF STOP
BACKSET 2-7/16”

OF
DEVICE
LC

25/32"
(19.8mm)

25/32"
(19.8mm)

2-9/32"
(57.5mm)

2-3/4"
(70mm)

3X 15/32"
(12mm) 

THRU

of
Ex

it 
D

ev
ic

e
LC

C
or

re
sp

on
ds

 
w

ith
 P

ul
l P

la
te

AFTER EXIT DEVICE IS CUT AND MOUNTED,
INSTALL END CAP BRACKET CENTERED ON 

DEVICE   LC

P:\INSTALLATION INST\Mechanical Hardware\TEMP-S6200-SP.vsd     REV - 08-12     Page 2



Fo
ld

 li
ne

Fo
ld

 li
ne

DIMENSIONS ON THIS
PUBLICATION MAY NOT
BE TO SCALE.  DO NOT
USE TEMPLATE TO
MARK DISTANCES

!

19/32”
(15mm)

TOP OF 
DOOR FRAME

DOOR FACE

1-25/32”
(71mm)7/8”

(22mm)

2-7/16”
(62mm)

See template 
#1 for note

2-13/32”
(61mm)

5-5/8”
(143mm)

Top 
Latch

Bracket

C

C

Bottom 
Latch

Bracket

4-7/16”
(113mm)

1-7/32”
(31mm)

D

Drill 3/4” (19mm) diameter hole 2-1/4” (57mm) deep.E

Drill 11/64” diameter hole, use #12-24 tap.D

E

27/32”
(21mm)

2-3/8”
(60mm)

Bottom 
Strike

FACE OF 
DOOR STOP

FACE OF 
DOOR STOP

B
O

TT
O

M
 O

F 
D

O
O

R

I N
TE

R
IO

R
 F

A
C

E
O

F 
D

O
O

R

TEMPLATE 3

Dimension Guide for – LHR
Template 3

METAL Door: USE SEXBOLTS-Drill 9/32” (7mm)
hole push side.  13/32” (10mm)
hole pull side

WOOD Door: USE SEXBOLTS-Drill 13/32” (10mm)
hole through door.  For optional wood 
screws, drill 1/8” pilot holes, 1.0" deep.

C

Cut out this area 
to a depth of 7/8” 
(22mm) into floor

3X

*

Fold line
Fold line

Dimension Guide for – RHR
Template 4

DIMENSIONS ON THIS
PUBLICATION MAY NOT
BE TO SCALE.  DO NOT
USE TEMPLATE TO
MARK DISTANCES

!

19/32”
(15mm)

TOP OF 
DOOR FRAME

DOOR FACE

1-25/32”
(71mm) 7/8”

(22mm)

2-7/16”
(62mm)

See template 
#2 for note

2-13/32”
(61mm)

5-5/8”
(143mm)

Top 
Latch

Bracket

C

C

Bottom 
Latch

Bracket

4-7/16”
(113mm)

1-7/32”
(31mm)

D

Drill 3/4” (19mm) diameter hole 2-1/4” (57mm) deep. E

Drill 11/64” diameter hole, use #12-24 tap. D

E

27/32”
(21mm)

2-3/8”
(60mm)

Bottom 
Strike

FACE OF 
DOOR STOP

FACE OF 
DOOR STOP

BO
TT

O
M

 O
F 

D
O

O
R

IN
TE

R
IO

R
 F

A
C

E
O

F 
D

O
O

R

TEMPLATE 4

METAL Door: USE SEXBOLTS-Drill 9/32” (7mm)
hole push side.  13/32” (10mm)
hole pull side

WOOD Door: USE SEXBOLTS-Drill 13/32” (10mm)
hole through door.  For optional wood 
screws, drill 1/8” pilot holes, 1.0" deep.

C

Cut out this area 
to a depth of 7/8” 
(22mm) into floor

*

P:\INSTALLATION INST\Mechanical Hardware\TEMP-S6200-SP.vsd     REV - 08-12     Page 3



Note;
This template is used for Rim Mount and Surface 
Mount Vertical Rod Devices.  It is not available 
for Concealed Vertical Rod Exit Devices.

PULL PLATE

25/32"
(19.8mm)

1-9/16"
(19.8mm)

25/32"
(19.8mm)

3"
(76mm)

1/4"
(6mm)

2-9/32"
(57.5mm)

5-1/32"
(128mm)

2-3/4"
(70mm)

8-3/16"
(208mm)

5-7/16"
(138mm)

LC

Mounting 
Holes (3X)
Drill 15/32" (12mm) 
dia. holes thru.

Corresponds 
with Exit Device

of
Pull Plate

Cylinder Hole
Cut out 1-5/8” dia. 
[41mm] hole on pull 
side. (Not required for 
Dummy Pull Plates)

L C
of

Exit D
evice

TO
 FA

C
E

 O
F STO

P
B

AC
KS

E
T 2-7/16”

4th Mounting Hole
Drill 1/4" (6.35mm) dia. hole thru.
From Outside, drill 15/32” (12mm) 
hole 1-1/2” (38.1mm) deep

P:\INSTALLATION INST\Mechanical Hardware\TEMP-S6200-SP.vsd     REV - 08-12     Page 4


